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QUESTION 1

Which of the following messages are exchanged between the MME and the SGW during the UE-initiated detach
procedure?

A. Detach Request / Detach Accept

B. Delete Session Request / Delete Session Response
C. S1 Context Release / S1 Context Release Complete
D. CC-Request / CC-Answer

Correct Answer: A

Reference: https://www.slideshare.net/tharinduwije/lte-ue-initial-attach-detach-from-networkx

QUESTION 2

Which of the following statements regarding IMEI checking is FALSE?

A. MME requests IMEI from the UE.

B. MME receives the IMEI status from the HSS given the UE\\'s IMEI.

C. The IMEI status can be whitelisted, blacklisted, or greylisted.

D. MME decides whether to reject the Attach procedure from UE based on the IMEI status.

Correct Answer: B

QUESTION 3

Which of the following is NOT a benefit of S1-Flex mechanism?
A. Minimizes MME relocation in case of UE mobility

B. Minimizes the number of MMESs required in a network

C. Provides MME load balancing

D. Provides MME geographical resilience

Correct Answer: D

QUESTION 4

Which of the following statements regarding the SMC procedure is FALSE?
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A. SMC procedure must be completed successfully before AKA procedure starts.

B. MME sends a security mode command message to the UE.

C. UE responds with a security mode complete message.

D. SMC procedure is used to provide NAS signaling security between the UE and the MME.

Correct Answer: A

QUESTION 5

Given the exhibit, if GTP-C load control is used, which SGW will have the highest probability of being selected by the
MME for new session requests?

Order | Preference | Flags | Services Replacement

200 55535 a" X-3gpp-sgw:x-s5-gtp

200 25535 “a”  x-3gpP-SgWiX-s5-gip

topon.eth9.sgw02.pooll.nodes.3gppnetwork.org

topon.eth9.sgw04.pooll.nodes.3gppnetwork.org

| Calculated Relative Available Load

sgw02 15%

sgw04 10%

A. sgw01
B. sgw02
C. sgw03
D. sgw04

Correct Answer: A
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